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Dear colleagues,

In my previous post, the sticky notes of the attached file were not readable. Again, I
wrote each comment directly on the attached pdf file (with purple color). However, to
make it sure this time I also listed all those comments (sticky notes) here below:

The sticky notes:

1. The paper and its discussion and conclusion has much more other useful contents
than what has been given in the abstract. I guess the limitation of the abstract word
numbers (500 words) has been the reason for this.
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2. One concluding sentence (like those written in the conclusion) should be added
here.

3. GLEAM and HyMod could be other keywords for this paper? Don’t you think so?

4. Here, in such case I am sure the authors know better than me that the strong
correlation is not enough :)

5. , and whether the model provides improved ..........[here, i proposed this little cor-
rection to make it in harmony with the previous sentences. So, i think adding the
conjunction "whether", like what you did for the previous sentence, is better here.]

6. Unnecessary abbreviation makes the text a bit boring, as the text has already too
many :) If you wish to reduce them then just start with the name of the rivers...

7. The abbreviation, HAET, has not been introduced in the paper so far. Perhaps you
mean HyMod AET. First I thought that H stands for Hargreaves...

8. after the remove of the GAET data.

9. This sentence needs a little bit of improvement (grammar correction).

I am sorry for the inconvenience,

Best Regards,

Abdolreza Bahremand

Please also note the supplement to this comment:
http://www.hydrol-earth-syst-sci-discuss.net/hess-2016-413/hess-2016-413-RC2-
supplement.pdf
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